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SECTION-I 3 Let x, wand = be distinct integers, x and v are
Directions from questons 1 to 5: Each question is odd and positive, and z is even and postive.
independent of each other. Which one ofthe following statements can not
be true?
& ladder leans againgt a vertical wall. The top 2. (X_Z)z?_is EiEn
of the ladder 12 3m above the ground. When b (x-z)y’is odd
the hottom of the ladder is moved 2m frther c. (xzrisodd
away from the wall, the top of the ladder rests d. (z—yrziseven
againdt the foot of the wall. What iz the length i A square, whose side 18,2 melers, tas its
of the ladder? - Iare, ; 1B ]
comers ot away sof@sto formEn octagon with
a2 1lm all sides equal. Themthe lefioth of each side of
b, 15m the octagon, in metersds:
e 2m 2 (V)
d 1Tm
Ujakar and Keshav attempted to solve a h. [2)f(ﬁ+ 1)
gquadtatic equation. jalkar made a mistake in
whiting down the constant term. He ended up o (20 (\E - 1)
with the roots (4,3% Keshav made a mistalzein
witing down the coefficient of = He got the d 7 =1
toots as (3,23, What will be the exact roots of : (J_) (J_ )
the original quadratic equation? 7 Al the page nurbers from a book are added,
a. (6,13 beginning at page 1. Howewver, one page
b (=34 ttrher was mistakenly added twice. The sum
' ; obtained was 1000 Which page number was
.. 43 added twice?
d (=4-3) a 44
A student took five papers i an exarnination, b 45
where the fiull matks were the same foreach '
paper. His marks in thesefpapers were in the c. 10
propottion  of &7 ERILSInfall papers I
together, the candidate obtained 60% of the g, % and ¥ are real numbers satisfying the
total matks. Then the number of papers in conditions 2«3 < Jand -8 < y < -7, Which of
which he got mdfethan 50% marksis: the following expressions will have the least
b, 3 a Xy
c. 4 b oxy
d 03 C. OEy
i cettain city has a circular wall around it, and d. MNone ofthese
the wall has four gates pointing north, south, '] In a number system the product of 44 and 11 is
gast and west. A house stands outside the city, 1034, The number 3111 of this system, when
three kms north of the north gate, and it can converted to the decimal number system,
just be seen from a point nine lans east of the hecomes
south Gate. What 15 the diameter of the wall a 406
that surrounds the city? b 1026
: s E c 213
' 17 an d. 691
€.
10. Baszed on the i gure below, what i3 the value of
d. MNone ofthese %, if y=107 It is given that AD=y, AB=z,




DC=x-3, BC=zHd. If AE is the perpendicular
ot BD, then AF =x -3,

[t
a 10
ho 11
co 12
d. Mone ofthese

Directions for questions 11 to 12: The petrol
consurnption rate of a new car ‘Palto” depends on its
gpeed and nay be described by the graph below

11 Ianisha rrakes the 200 lon tip from Mumbal
in Pune at a steady speed of 60 lan per hour
What 15 the armount of petrol consumed for the

journey?

a. 12.5litres
b 1333 litres
c. 16 litres

d. 1975 litres

12. Ilamisha would like to fufimise the fiel
consuwnption for the trip b dwving at the
appropriate speed. How should she change the
speed?

a. Increase the speed

b, Decreasgthe Specd

c.  Nlairtainthe speed at 60 lonthour
d.  Cangobbe determrined

DIRECTIONS for guestions 13 and 14:

THey batting“average (BAY of a test batsman is
corpubed), fom mins scored and innings  played-
cormpleted intings and incorrplete innings (not out) in
the foll owing manner

1 =nurher of runs scored in cotrmpleted imings

ty = moanber of completed innings

1z = munher of nins scored in inconmplete innings

tp = nnber of incomplete innings

BA= (1’1 + I’g:Ll"Il]s

Ted TE
To hetter assess a batsman’s accorplishrments, the
ICC is considering two other measures WBA, and
B A&, defined as foll ows:

LB &y =1y + ng'ny + masx [0, (ra'hs — 1]
I"JIEI;":";Q = (I']_ + I'g}l.l"(ﬂ]_ + I'lg:l

13. Bazed on the information provided which of
the followingis true?
a WNBA, EBA ENBA,
b, Ba £LB A, ENBA,
c. MBA,EBA ENBA,
d. Mone ofthese

14. An experienced cricleter’ with o incormyplete
itmings haz a BA of 50, The nestifime he bats,
the inrings is incdinplete and he scores 45
tuns. In can be infetred that
a. BaA and LB A will toth increase
b, Ba will increaséand NE A4 will decrease.
c. BaAowall increase and not enough data is

availahle t0 assess change in WB A1 and
BB Ao

d. yHMore of these

DIRECTIONS for guestions 15 to 50:
Answer the questions independent of sach other.

15. Eaju has 125 boxes with hitn He has to put at
least 120 oranges in one box and 144 at the
tnost. Then the least nurnher of boxes which
will havethe sarne numnber of oranges is:

a 3
b 103
coo3
d 6
18. Ewery ten years the Indian gowenmment counts

all the people living in the country. Suppose
that the director of he census has reported the
followang data on two neighboring willages
Chota hazri and Mota bazi Chota hazri has
4 522 fever males than Mota hazri Mota hazn
haz 4. 020 tmore ferrales that males.

Chota hazn has twice as many females as
mrales.

Chota hazri has 2910 fewer fetmales than
Ivlota hagri.

What is the total munber of males in Chota
hazr?

11264

14174

5652

10154

oo oo




17.

18.

19,

a0.

2l

Ifxz = 5and v <-1, then which of the following
staternents is trae?

a. [y sl

b oz =y

. —dx<ay

d. Mone ofthese

The fiowe below shows  the network
connecting cities A, B, C, D, E and F. The
arrows indicate perrnissible direction of trawel.
What is the murrber of distinct paths from A to

11

Mone of these
Three mnners &, B and C nn a tace, with
tunner & finishing 12 meters ahead of ronner
B and 13 meters ahead of nminner ©, while
mnner B finishes & meters ahead of rmunner ©.
Fach rmmner travels the entire distance at a
cotstant speed.
What was thelength of the mce?
a. 36 meters
h. 48 meters
c. 60 tneters
d. 7Zmeters
Consider a triangle Itslofigest s de has length
20 and another of itz ddegthas length 100 Its
area iz 30. What iz ¢he exzact Tength of its third
side?

a.
b 10
C
d

a 260
b, 230
. 240
)

& train X departs from station A at 11,00 am.
for station B, which iz 1110 lan away. Another
train ¥ departs from station B at the same
time. Train X travels at an average speed of 70
lemttr and does not stop anywhere until it
arrives at station B. Train Y travels at an
average speed of 50 kro'hr, but has to stop for
15 minutes at station C, which iz 60 km away
from station B erroute to station A, At what
distatice from A would they meet?

a. 112
b 113

2

23

235

26,

c. 120

d. Mone ofthese

Three friends, retuning from a movie, stopped
to eat at a restauant. After dinner, they paid
theit hill and noticed tmirts at the front
coutter. Sita took 153 of the mints, ot
teturtied four because she had a momentary
patg of guilt. Fatitna then took 14 of what
was left but retumed three for similar reasons.
Eswari then took half of the rerminder bt
threw two back into the bowl. The bowlthad
orly 17 mirts left when the r@id wWas over
How tmany mints were originallyin the bowd?
a 38

b 31

c. 41

d. Mone ofthese

chyvatn atdeVyorn walk up an escalator
(tnoving Staitway). The escalator tnowes at a
conistant spéed. Shyam talzes three steps for
evely two ofWom’s steps. Shyatn gets to the
topafthe ggcalator after hawing taleen 25 steps,
Wwhile W@dm (hecause her slower pace lets the
gzcalator do a little more of the wotl) takes
orly 20 steps to reach the top. Ifthe escalator
were tumed off, how many steps would they
haveto take to walls up?

a 40
b &l
c. a0
d. &0

Ifa, b, cand d are for postive real mumbers
auch that abecd = 1, what is the minitmom walue
of (1+a) 1+hy (1+c) (1+d)

a 4

b1

c. lé

d 18

Anita had to do a multiplication. Instead of
taling 35 as one of the noltipliers, she took

53 As a result, the product went up by 540,
What is the new product?

a. 1050
b, 540

c. 1440
d. 1500

The owmer of apart shop conducts his business
in the folowing manner Ewery once in a
while he rmises his prices by 234, then a while
later he reduces all the new prices by 2040
After one such up-dowm cycle, the price of a
paitting decreased by Fs 441 Afer a second
up- down cycle the painting was sold for Bs




25

a0

0.

3l

1944 81, What was the original price of the
painting?

275835

225625

2500

2000

A set of consecutive  positive  integers
beginning with 1 iz written on the Wackboard.
A student carne along and erased one nurmber
The average of the remaining mumnbers is 35
THT. What was the munber erased?

a 7
b 8
c. 9
d. Mone ofthese

Let n be the mumber of different > digt
munhers, divisible by 4 that can be formed
with the digits 1,2,34.5 and 6, with no digit
being repeated What s the walue of n?

a. 144

b 163

c. 192

d. Mone ofthese

Three rmath classes 2, Y, and 7, take an
algebra test.

The average score in class 2015 83,
The average score in class ¥ i 74,
The average score it class £ i3 85

The average score of all students in clasges X
and ¥ togetherizs 79

The average score of all student i classes ¥
and 7 togetheris 81,

What 15 the average for all the ice/flasz ses?
a. 8l

a0 oW

b, 815
C. 82
d. 845

In the diagrarn, ABCD is a rectangle with AE
=FE=FB. Whatis the matio ofthe area of the
trniangle CFF and that of the rectang] &7

i \ il
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A F F [+
a1/
b, 178
c. 1/9

d. Mone of these

&t a cettain fast food restaurarnd, Baleshi can
by 3 hurgers, 7 skales, and one order of fHes

3

33

35

§af TF
for Bs. 120, At the same place it would cost
Es 16450 for 4 burgers, 10 shakes, and one
order of fries. How much would it cost for a
tneal of one barger, one shake, and one order
of fries?

a. Rs3l
b Es4l
c. REsil
d. Carmot be determined.

& can complete a piece of work in & dags. B
takes double the time taken by"AOC takes
double that of B, and D takes dauble that of C
to complete the same task They ate paired in
groups of two each One pair taligs two- thirds
the time needed by thesecand pair to cornplete
the wotk. Whichis the first pait?

a AR
h AC
c. B.C
i Agl

In & 4-digit rmber, the sum of the first two
digitaie egual to that of the last two digits. The
gariyof the first and last digits is equal to the
third digit. Finally, the sum of the second and
fotth digits is twice the sum of the other two
digits, What iz the third digit of the number?

a 5
h. &

c 1

d 4

& college has raized 73% of the amount it
needs for & new tuilding by receiwing an
average donation of s, 600 from the people
already sdlicited. The people already solicited
represent 60% of the total people the college
will ask for donations. If the college is to raise
exactly the amount needed for the new
building, what should be the average donation
from the remaining people to he solicited?

a. ERs300

b, Fsg 250

c. Rs400

d. Ra500

There’s a 1ot of works in preparing a birthday
dinner. Even after the turkey = in the owven,
there’s still the potatoes and grawy, salad, and
cranberries, not to mention setting the table,

Thtee fhends, Asit, Arnold, and Afeal wotk
together to get all of these chores done, The
titne it tales thetn to do the wotls together is
gz hours less than Asit would have talten
wordng alone, one hour less than Arndld
wodd hawe talen alone, and half the time
Afral would hawve taleen worldng alone,




36

38

39,

Howr long did it take thern to do these chores
wotldng togethet?

a. 20 minates

b, 30 mittes

c. 40 mimtes

d. 50 mirutes

A red light flashes 3 times per minute and a
green light flashes 5 times in two minutes at
regular intervals. If both lights start flashing at

the same time, how many times do they flash
together in sach hour?

a. 30
b 24
c. 20
d. @l

Two sides of a plot measure 32 meters and 24
meters and the angle between them iz a right
angle. The other two sides measure 25 meters
gach and the other three angles are not right
angles.

k14
What iz the area of the plot?
a. 763
h. 534
oo G765
d. as4

Ashish is given Fso 158 in  afe™fupee
denotninations. He has beén asked 19 allocate
them into a tmber of thags sdch that any
amount required between Regdfand s 158
cat e given by handing out a certain number
of tags withoifNapeting them What iz the
trinitrun tggrbet of Bags required?

a. 11

b 11

e\ 13

d. ‘Bone ofthese
Iri the given figue BC = AC, angle AFD =40
and CE = CD. The walue of angle BCE =7

r
*
.i_r,._f- '“-..\\" “‘«,‘_HH
7 el LR

e NR
5 i b,
a. 140
b, 70
c. 100
d. Mone of these

40.

41.

42

43.

45,

Red TE
For a Fihonacei sequence, fom the third term
otrwards, each term in the sequence is the sum
of the presious two ternms in that sequence. If
the difference of squares of seventh and sizth
tetrns ofthis sequence is 517, what 15 the terth
tetrn of this sequence?

a 147
b TA
c. 123

d. Canhot be detertrined
In zotne code, letters a, b, o, dand e fepresents
etz 2,04, 5 and 100 We don’ psios widich

ERLE )

letter represents which murbes)y Condider the

followang relationships:

l. atc=e

2 b-d=4d and

3. eta=h

Which statement helowris tie?
a.  h=4, d=l

b, h=d, =i

c. b=, =1

d. a=t, .=h

At his usual rowing rate, Fohit can trawvel 12
mriled, dowmnstream in a cerfain river in &8x
bigiars 1222 than it talees him to trawvel the same
distatice upstream. But if he could double his
uagal rowaing rate for this 24 mile round trip,
the downstrearn 12 miles would then take only
one hour less than the upstream 12 nules.
What is the speed of the current in nules per
hour?

a ¥3
b, 413
co 53
d. 83

Two men X and ¥V started working for a
cettain cotrpany at similar jobs on January
1,1950. X asked foran initial salary of Bs 300
with an annual increment of Rz 300 Y aded
for an inttial salaty of Bs 200 with a rise of
Fe 15 every six months Assume that the
arrangernents  retnained  unaltered I
December 31,1959 Balaty is paid on the last
day of the month. What iz the total arnount
paid to thern as salary during the period?

a  Rs 83300

b Rs 83200

c. Rs 93100

d. Mone ofthese

tnis the strallest positive integer such that n =
. also it is known that f — 7o + 11n - 5 is
positive. Then the possible value form is:

a 5

b &

c 4

d. Mone ofthese

A rectangilar pool 20 meters wide and 60
metres long is surounded by a wallway of
uri form width. [fthe total area of the walloway




15 516 square meters, how wide, in metres, is

the wal lowmy?
a. 43

b, 4.3

c 3

d. 3.5

46. Decernber 5, 2001 is Sunday. What was the
day ot Decernber 9, 19717

a. Thursday

b, Woednesday
o Baturday

d. Sunday

7. Let b be a positive integer and a = b*—h If
h=4, then a®-ais divisible by

a 15
b, 20
c. 24

d. Mone ofthese

45, Fresh grapes contain 0% water by weight
while dried grapes contain 20% water by
weight. What iz the weight of dry grapes
available from 20 g of fresh gapes?

a 2Kg
h. 24Kg
c. 25Kg

d. Mone ofthese

49, A change making machine containe 1 rupee, 2
mpee and 5 rupee coins. The total mumher of
coins 15 3000 The amount is Rs 980 If the
munher of 1 mpee coins and the mumber of 2
mpee coing are interchanged, the value comes
down by Ea. 40, The total mnber of Snipee

Coifgis:
a. 100
b, 140
c. Al

d. 150

=0, Let =, v he two positive nmaberssuch that = +
v = 1. Then, the migirmum vahee of (z+ 1507 +

(y+ LAy is...
a 1d

b, 20

e 125
4. 13@

SECTION-II
DIRECTIONS for questdons 51 to 80: Each of the
siEypassagzes given below iz followed by questions.
Choozethe best answer for each question.

PASSAGE -1
The narrative of Dersu Uzala is divided into two tmajor
sections, set in 1902 and 1907, that deal with sepamte
expeditions which Areseniev conducts into the TTssun
region. In addition, a third tme flame fomms a
prologueto the film, Each ofthe ternporal frames hasa
differenice focus, and by shifting them Kurosawa is
able to describe the encroachrment of settlements upon
the wilderness and the consequent erosion of Dersw’s

s

dhad T3
way of life. Asthe filtn opens, that erosion has already
begun. The first image isa long shot of a huge forest,
the trees piled upon one another by the effects of the
telephoto lens so that the landscape becomes an
ahstraction and appears like a lmge curtain of green. A
title inforrns us that the year iz 19100 Thiz is as close
ito the centwy as Kurosawm will go. After this
prologue, the everts of the film will transpire even
farther back in time and will be presented as
Arseriev’ s recallections.

The chatacter of Dersu Uzala iz the heat of
the filtn, his life the exarmple that Kurosasa sishesiio
affirn. Yet the formal organisation of the filfnysworks
to contain, to close, to droumscsbe that lfe by
erecting a seties of obhstacles around it. The fle itzelfis
ciroular, opering and closing by \Brersu’s grave, thus
sealing off the character ffom the sid@den warld to
which Kurosawa once so degperately wanted to speal
The multiple time frames alS@worik to maintain a
separation betweendierau and the contermnporary world.
We must go back fasther even than 1910 to discover
who he wassgbul this/namative structure has yet
another implication. It zafeguards Dersu’s example,
imoculates 18 from contamination with history, and
protetts ffrom contact with the industrialised, urban
wirld. Aime 8 organised by the narmtive into a series
of hamiersdwhich enclose Dersu in a kind of womim
chiamber, protecting him from the social and histoncal
dialectics that destroyed the other Kwosawa heroes.
Within the filtn, Dersy does die, but the narmtive
structure attemypts to imumortalise him and hiz ezample,
azDrersupasses from history into moyth,

We zee all this at work in the enormously
evocative prologue The camera tilts down to reveal
feller] trees littering the landscape and an abundance
of construction. Reoads and houses outline  the
settlernent that is being built, Kurosawa cuts to a
tnedium shot of Arseniev standing in the midst of the
deating, looking uncomfortable and disoriented. tran
pRssng in a wagon asks him what heis doing, and the
emplorer says he is looking for a grave The driver
replies that no one has died here, the settlement 12 too
recert. These words enunciate the temporal ripture
that the film studies It is the begnoning of things
(industtial society) and the end of things (the forest),
the commencement of one world =0 young mat no one
tas ha time yet to die and the eclipse of another, in
which Drersu has died. It is his grawve for which the
explorer searches, His passing symbolizes the new
arder, the developrnent that now surrounds Arseniev.
The exploter says he buried 1lid fiend three yeatrs ago,
niest to huge cedar and fir trees, hut now they are all
gotie. The tnan on the wagon replies they were
probable chopped dovwn when the settlement was built,
atid he drives off

Arceniev walles to a barren, treeless sot nest
to a pile of bricks As he moves, the camera tracks
sand pans to follow, revealing a line of feshly built
houses sun a worman lunging her laundry to thy, A




distant train whistle iz heard, and the sounds of
construction in the ceaning vie with the cries of birds
and the rustle of wind in the trees Arseniev pauses,
looks around for the grave that onee was, and murtrs
desolately, “Dersu”, The itrage now cuts farther into
the past, to 1902, and the first sechion of the film
corrtnences, which describes Arseniev’ s meeting with
Denze and their friendship. Knrosawa defines the
world of the film indtially upon a woid, a missing
presenice. The grave iz gone, hrushed aside by a world
tushing into modernistn, and now the limiter exists
otly in Arsendes’s temnories The hallucinatory
dreatns and wisions of Dodeslsaden are succeeded by
tiostalge, melancholy ruminations. Yet by exploring
these turmitations, the filim celetrates the titnelesstess
of Dersu’s wisdom.

The first section the film has two purposes: to describe
the magnm ficence sane inhuman wastness of natwre and
to delineate the code of ethics by which Dersu lives
and which penmits him to survive in these conditions.
When Dersu first appears, the other soldiers treat him
with condescension and laugher, bt Arseniev watches
him clozely and does not share their derisive response,
Unlilce them, he is capable of immediately grasping
Dersu’s extraordinary qualities. In canmp, Kurosawa
frames Arseniev by himsel £, sitting on the other side of
the fire from hiz soldiers. While they sleep or joke
among  themselves, he wmtes in his diary and
Furosawa cuts in several point-of-wiew shots from his
perspective of trees that appear animated and sinistef
as the fire light dances across their gnarled leafless
outlines. This reflective dimension, this sensitiffiito
the spintuality of nature, distinguishes him Somthe
others and forms the basis of hiz receptivity to Cersn
and their fendship. [t malkes him a filypupil forthe
tnanter.

sl According to the author theéection of the film
following the prologue:
a. oerves to highlight the difficulties that
Dersu facestlat eventually kills him
b, shows fhie differenice in thinling between
Araeniey andhDera.
c.  ohgws the code by which Dersu lives that
allowes hiterto surive his surroundings
d.OReresy to criticise  the lack  of
understanding of nabire in the pre-rnodem
Era.
52, Srzeniev's search for Deray’ s grave:
a. iz part ofthe beginning of the film.
b, syrbolises the end of the industrial
society
c. is trisguided since the settlemnert is too
TLE.
d. syrholises the rediscovery of rodemity.
53 In the filim, Kurosawas hints at Arseniew’'s
reflective and senative nature:
a. by chowing him as not being densive
towards Dersu, unlile other sol diers.

s

Pk 33
b, by showing it as being aloof fom other
soldiers.
c. through shots of Arserdev writing his
diaty, framed by trees
d. all ofthe above
4. The il celebrates Dersu’s wisdotm:
a. by exhibiting the tnoral wacuan of the pre-
trodem wotld.
b, by turning hitn into a mythical figure
c.  through hallucinatory drearns and wsions.
d. through Arseriew’ s nostalgic, tnelancholy
55. Howr iz Kurosawa able to show tietgrosion o f
Drersu’s way of life?
a. by dooumenting the ghb afid fow of
modermisation.
b. by going back frther'and farther in titne
c. by using threedifferenttifne frames and
shifting them.
d. through his death ithafdistant time
3. Accordinggtagthe author, which of theze
staternents abatt the film are corect?
a.  Theflm makes its arguments crcuitousy,
b (The filmm highlights the insulanty of
AT EENiEY.
C o The film begins with the absence of its
riEin protagoni st
i Maone of the ahove

PASSAGE -1I

Billie Holiday died a few weelks ago. [ hawve been
wiable urtil now to write about her, it since she il
survive many who receive longer obituaries, a short
delay in one small apprediation will not hanm her or us.
When she died we — the musicians, critics, all who
were ever transfized by the most heatt-rending woice
of the past generation — grieved bittetly, There was
no reason to. Few people pursued selfdestraction
tnore whiole-heartedly, and when the pursuit was at an
end, at the age of forty-four, she had turned herself
into a plysical and artistic wreck Some of us tried
gallantly to pretend otherwize, taking comfort in the
occasional morments when she still sounded like a
tawvaged echo of her greatness. Other had not even the
heatt to see and listen any tmore. We preferred to stay
hotne and, if old and lucky enough to own the
incornparable records of her heyday from 1937 to
1946, marry of which are not even available on British
LP to recreate those coarse-tesstured, sinious, sensual
and urbearable sad noises which gave her a sure
comer of imwnortality. Her pliysical death called, if
atthing, for relief mther than sorrow What sort of
triddle age would she have faced without the woice to
gath tnoney for her diinles and fizes, without the looks
—and in her day she was havntingly beawtiful — to
attract the tmen she needed, without business sense,
without anything but the disinterested worship of
ageing men who had heard and seen her in her glory?




And wet, imational though it iz, our gref
expressed Billie Holiday's art, that of a worman for
whormn one rst be sorry. The great blues singers, to
whorn she may be justly compared, played their game
Fom strength Lionesses, though often wounded (did
tiot Bessie Srnith call herself “a tiger, ready to jutnp™,
their tragic equivalents wetre Cleopatta atd Phaedrs,
Holiday' s was an embittered Ophelia. She was the
Puccini heroine arnong blues singers, ot rather atnong
jazz dngers, for though she sang a cabaret wversion of
the blues incotrgarably, her natural idiom was the pop
song. Her urdque achievernent was to have twisted this
itto a gemine expression of the major passions by
treans ofa total disregard of its sugaty tunes, or indeed
of any tne other than her own few delicately aying
elongated notes, phrased like Bessie Smith or Louis
Armmstrong in sackcloth, sung ina thin, gritty, haunting
woice whose ratwal mood was an unresigned and
woluptuous wel come for the pains of love. MNaobody has
sung, or will sing B essie’ s songzs as she did. It was this
combination of hittemess and physical submission. as
of someone lying still while watching hiz legs being
arputated, winch gives such a blood-curding quality
to her song, Fruit, the anti-lynching poem which she
turned into an nforgettable art song Suffering was
her profession; but she did not accept it

Litfle need be said about her homifying life,
wiich she described wiath emotional, though hardy
with factual, truth in her antobiography Lade Sings the
blues. After an adolescence in which self respect wag
measured by a gifl’ s insistence in picking up the coing
thrown to her by clients wath her hands, she Sms
plainly beyond help. She did not lack it, for shehad the
flair and scrupulous honesty of John Hanmmond 0
launch her, the best musiclans ofethe 19305 to
accotnpany her — notably Teddy S#ilson, Frarkie
Mewton and Lester Young — the bdundless devotion of
all serious connoisseurs, and muchdublic success, [t
was too late to amrest a caresr of systemdtic embittered
selfirmolation. To be bomSsith hath beauty and sl
respect in the Megro ghetbo, ofBalimore in 1915 was
too much of a handieap, Sveniwithout rape at the age
of ten and drug-addictiotyiy her teens. But while she
destroyed herfelf, she sang, unmelodions, profound
and hearthrgaking Fiimposable not to weep for her,
ottt to habe thegsorld which made her what she was.

574 Accapting to the passage, Billie Holiday was
fortunatein all bt one of the following ways:
a. she was fortunate to have been picked up
youtg by an honest producer.
b, she was fortunate to have the likes of
Louis  Armstrong  and Bessie Srnith
accotrpaty her.
c. shewas fortunate to possessthe loolks.
d. she enjoyed success among the public and
COM0123 ES.
a8, According to the author, 1 Billie Haoliday bad
not died in her middleage:
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a. she would have gone on to make a fither
trark.

b, she would have becomne even ficher than
what shewas when she died

c. she would have led a rather mwvaged
existence.

d. she would hawe led a rather corfortable
existence.

59, Why will Billie holiday sutvive many who

teceive longer obituaries?

a.  because of her blues creations.

b, because she was not as self-d@sttuctiveas
some other blues exponents

c. because ofher amooth and mellew voice.

d. because of the expregiion of anger in her
songs.

al. Which of the followang staternents is not

representative of the authos opimon?

a. bBillie Holiday hadwelier unique brand of
melod

b, Billie Holidag s woice can be compared to
other sifigers’ in certain ways.

c. (Billie Holiday' s woice had a ning of
peofound somrowe

Ly Billie Holiday welcomed suffering in her
piofesdon and in her life,

PASSAGE —III
The union government’s position vis-a-vis the United
Mations  conference  on racdal  and  related
discimination world-wide zeems to be the following
discuss race please, not caste, caste is our wery own
and not at a as bad as you think. The gross hypocrisy
of that position has been lucidly underscared by
Kancha Ilaiah Explicitly, the world comrmunity is to
be cheated owt of considering the matter on the
techricality that caste is not, as a concept, tantarnount
to a racial category, Internally, however, allowing the
issue to be put onagenda at the said conference would,
we are patticularly admorished, darage the countrv' s
inage. Somehow, India’s spiritual beliefs ebow ot
concrete actualities Inverted representations, as we
lmowr, have often been deployed in human histories as
talm for the forsaleen — religion being most persstent
of such inversions. Yet, we would humbly subroit that
if globalising our matkets are thought good for the
‘mational” pocket, globalising our social inequities
tright not be so bad for the mass of our people. After
all, raciam was as urdquely instittionalised in South
Africa as caste discritnination has bheen within our
society, why then can’t we pertnit the world
cotrtnunity to express itself on the labter with a
fraction of the zeal with which, through the years, we
pronounced on the former? As to the techrd cality about
whether ot ot caste is admizsible into an agenda abogt
tace (that the conference iz also about related
disciminations tends to be forgotten), a reputed




sociologist has recently argued that where mmee iz a
*hiological” category caste isa social” one

Having gatlier fiercely opposed
implementation of the Mandal Cotrerd ssion Feport, the
said sociologistis at least to be corrgplemented now for
adtritting,  howewer  tangentially, that  caste
dizctimination iz a reality, although in his wiew,
incornpatible with rmeial dsctimination One would
like quicldy to offer the hypothesis that biclogy, in
itrpottant Ways that affect the lives of rany millions,
ginitself pethaps a social construction. B let us look
at the rratter in another way. [fit iz agreed - as per the
posiion today at wiich anthropological and allied
soientific determiniations rest —that the entire race of
homo sapens derived foman originally black African
fernale (called “Ewe™) then one 15 hard put to
mderstand  how, on some  subsequent  ground,
ontological distinctions are to be drawm either between
races or castes. Let us also undedine the distinction
between the supposition that we are all God’s children
and the rather more substartiated argument about our
descent from “Ewe”, lest both positions are thought to
be equally diversionary. [t then stands to reason that all
subsequent distinctions are, in modern parlance,
‘constructed”  ones, and, like all  ideclogical
constructions, attnbutable to changing egquations
between lnowledge and power among hoaman
corrrurities through contested histories here, there,
and elsewhere.
This line of thought receives, thanldully, extremely
consequential tuttress from the findings of the Human
Genome project. Cortrary to eadier (chiefls 18th
Century colonial) persuasions on the subject ofmce, a3
well as one might add, the somewhat infariious Jensen
offering in the 20th century from Awmerica, those
findings deny genetic difference between fraces’. If
anything, they suggest that enfriromnental factors
impinge on gene-function, as ajdialectic seems to
unfold between nature and gulture. THwwuld thus zeem
that “biclogy” as the conghitution of pigmentation
enters the picture first oilspasa patt of that dialectic,
Talzen together, thednoinal mother stipulation and the
Genome findings oughttndeed to furnish ground for
hurran  equalityacross the board, as well as yield
policy  indtiatives Wtowards  equitable  tnateral
dizpenszatiohs atned at halding a global order where,
in Hegells\stirring fommulation, only the ratiomal
copstitibes the rght Such, sadly, is not the case as
everyday fresh athitrary grounds for discritrination ate
constructed in theinterests of sectional domirance.

Bl According  to the  author, C‘invetted
represertations as baltn for the forsaleen’
a. iz good for the forsaken and often
deployed in lnrnan histaries
h. iz good for the forsaken, but not often
deployed historically for the oppressed.

s

Bhad T3
c. occours often as a teans of keeping people
oppressed
d. ocours often to irwert the status quo.
B2, When the author writes “globalising our social
inequitied”, the reference is to:
a.  going heyond an intemal deliberation on
social inequity.
b, dealing with intemal poverty through the
ecotornic benefits of globalisstion.
c. going beyond an intemal delimitation of
social inequity.
d. achiewing dizadvantaged
etnpowertnent, globally.
f3. According to the author, thegsodialogst who
argued that race 1za “hidlbgicalDcategory and
caste iz a “social’ one
a. generally share§ the sami@ onentation as
the author’s on'toany af the central issues
discussed.
b, tangenti@lly, admuts to the emstence of
‘raste’ ag@ category,
c. admits the dncompatibility between the
people of dfferent race and caste,
d. |dmits’ indirectly that both caste-bazed
prejudice and racial dscamination esist
£, AntrAportant message in the passage, if one
accepts a dialectic between natuwre and culture,
15 that:
a. the result of the Human Genome Project
reinforces racial differences.
b, raceizat least partially a social construct.
c. discrimination is at least partially a social
cotstct.
d. casteisatleast partially a social constract,
f5. Based on the passage, which of the following
uratrbiguously fall under the purview of the
UM conferenice being discussed?
Facdal prejudice.
Facial Prde.
Discritnivation, tacial or otherwise,
Caste- related discrimination.
Facerelated discrimiration
AR
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PASSAGE -1V

I modem scientific story, light was created not once
tt twice. The first tirne was in the Big Bang, when the
wiverse began its existenice as a glowing, expanding.
fitehall, which cooled off into darleness after a few
trillionn years. The second time was hundreds of
trillionz of wear later, when the cold tnaterial
cotdensed into dense nuggets under the influence of
gravity, and ignited to becorne the first stars,

oir Dlartin Fees, Britain’s astronomer roval,
mamed the long interval hetween these two
erlightenments the cosmic “Darkc Age”™ The name




describes not only the pootly lit conditions, it also
the ignomance of astronomers about that perod
Mobody knows exactly when the first stars formed, or
how they organised themselves into galasies or even
whether stars were the first luminous objects. They
tray ltave hbeen preceded by quasars, which are
triystetious, bright spots found at the centres of sotme
galades. MNow, two independent groups  of
astronomners, one led by Robett Becker of the
Uriversity of California, and the other by George
Dyjorgowsld of Caltech, claitm to have peered far
etwough into space with their telescopes (and therefore
taclosards enough in time) to ohserve the closing days
of the Drarl Age.

The rmain problem that plagued previous efforts to
study the Dark Age was not the lack of suitable
telescopes, but rather the lack of suitable things at
wiich to point them Because these events took place
over 13 hillion years ago, if astronomers are to have
any hope of unravelling them they must study objects
that are at least 13 hillion light vears away. The best
prospects are quasars, because they are 20 bright and
corpact that they can be seen across wast stretches of
gpace. The energy source that powers a quasar is
mnbmowr, although it iz suspected to be the intense
gravity of a giant black hole. However, at the distances
required for the study of Dark Age, even quasars are
extremely rareand faint.

Fecently some members of Dr. Becloer’s team
announced their discovery of the four most distand
guasars known. All the new quasars are temribly faint, &
challenge that both teams overcame by peering at them
through one of the twin telescopes in Hawail, These
are the world’s largest, and can therefore collect the
most light The new worlt by Dr. Becker’s team
analysed the light fom all four quazars. Thrge of therm
appeared to be sdrmiar to ordinaryless distant quasars,
However, the fourth and most distant, unlike any other
fuasar ever seetl, showed vyt stalsabile’sgns of being
shrouded in a fog of bydrogeh gas This gas is leftover
traterial from the Big Batig that did not condense into
stars of quasars. [t als likke fogBecause new-bom stars
and guasars emit) rdialy  ultrawiolet light, and
by drogen gas {§ apaque to ultraviolet. Seeing this fog
tad been the goal ofould-be Dark Age astronomers
since 196%) when Jarnes Gunn and Bruce Peterson
spellefNautOthe technigque for causing gquasars as
bagklightingbeacons to observe the fog' s wWirawiolet
shadovia

The fog prolonged the period of datkness until
the heat from the first stars and quasars had the chance
to ionise the hydrogen (hrealdng it into its constituent
patts, protons and electrons). londsed hydrogen is
transparent to ulttawiolet radiation, so at that mmoment
the fog lfted and the uriverse became the well-lit
place it is today. For this teasony, the end of the Darle
Age is called the “Epoch of Fedonisation”, because
the ultravidlet shadow iz wisible only in the most
distant of the four quasars Dr Becker's team

iiaof 53
cotcluded that the fog had dizsipated completely by
the time the universe was about 900 mallion years old,
and one-geventh of itz current sze,

6. In the passage, the Datls A ge refers to:
a. the peniod when the universe becatme cold
after theBig Bang,
b, a period about which astronotners kmow
very little.
c. the tnediewval petiod when cultural activity
seetnied to have come to an end.
d.  the titne that the universe toplede heat ap
after theBig-Bang
f7. Astronomers find it dffcultde stidy the Dark
Age hecause
a. suitable telescopes are few.
b, the associated ewents tookiplace aeons ago.
c. the energy source that powers a quasar is
urlonow.
d. their bestychance iz to study quasars,
whicharedaint objects to begin with,
B, The four < inostd distant quasars discovered

recently

a could ) only be seen with quasars
dizeovered recently:

b, ‘appear to be sirlar to other ordinary,
quasars.

C. appear to be shrouded in a fog of hydrogen
gas.

d. have been sought to be discovered by Darle

Age astronomers snce 19435,
iR The fog of hydrogen gas seen through the

telescopes:

a. is transparent to hydrogen mdiation from
stars and quasarsinall states.

b, was lifted after heat from stars and quasars
ionized it

C. isrmaterial which eventually became stars
and quasars.

d. iz broken into constituent elements when
stars and quasars are formed.

PASSAGE -V

Studies of the factors gowerning reading devel oprnert
it young children have achieved a rematlable degree
of consensus ower the past two decades  This
consensus concerns the causal role of phonological
fdlls in young children’s reading progress. Children
who hawve good phoncological  skills, or  good
“phonological awareness”, become good readers and
good spellers. Children with poot phonological sklls
progress more pootly. In patticular, those who have a
specific phonological deficit are likely to be classified
as dyslesac by the time that they are 9 or 10 years old.

Fhonologieal skdlls in young children can be
tneasured at a number of different lewelzs. The termn
phonological awareness isa global one, and referstoa
deficit in recognising smaller units of sound within
spolcen words. Developrment works bas shown that this




deficit can be at the lewel of syllables. OF onsets and
itnes, ar of phonetnes. For example, a 4-year old child
tright hawve difficulty in recognising that a word like
walertine has three syllables, suggesting a lack of
syllabic awatreness. A-5 year old might have difficulty
it recognising that the odd word out in the set of words
fan, cat, hat, trat iz fan Thizs task requires an
awaretizss of the sub-syllable units of the onset and the
titne. The onset corresponds to any initial consonants
i1 a syllable, and the e comesponds to the vowel
and to any following consonants. Rimes cortespond to
sngle-syllable words, and s0 the ritne in fan differs
from the fime in cat, hat, and mat In longer words,
tfitne and rhyme may differ. The onsets in valentine are
M and A/, and the rimes correspond to the spelling
patterns “al,’en’, and ‘ine’.

A 8 wear-old might have difficulty in
recognising that plea and may begin with the same
imtial sound, Thisis a phonermic judgement. Although
the initial phoneme /' iz shared between the two
wirds, in plea it is part of the onset “pr” Until children
can segment the onset (or the rime), such phonemic
judgements are difficult for them to make In fact, a
recent surwey of different dewelopmental studies has
shown that the different level of phonological
awareness appears to  emerge  sequerntially.  The
awareness of syllables, onsets, and rimes appears to
emerge at around the ages of 3 and 4, long before most
children go to school. The awareness of phonemes, on
the other hand, vsually emerges at around theage of 3
or 6, when children have been taught to read for aboug
a year. An awareness of onsets and rimes thus appéars
to be a precursor of reading, whereas an awargnesds of
phonemes at every serial posion in a Gaord ondy
appears to develop as reading i taught «The onset-rime
and phonernic levels of phonological | strocture,
hovweesrer, are not distinct. Many disets in English are
single phonemes, and s0 are someines ez sea, go,
z0o),

The ealy availability of onsets and rimes is
supported by studies that), have compared  the
development of plonologcal™ awareness of onsets,
fitnes, and phonerngs tinthe same subjects using the
same phonologieal awareness taskes For example, a
study by Treirran and Fudowsld used a sameldi fferent
judgement taskinbased on the beginming or the end
soundetef words In the beginning sound task, the
wisds eltherfbegan with the sarne onset, as inplea and
plank ot shared only the initial phonerne, as in plea
and pray. In the end-sound task, the words either
ghared the entite fitne, as in spit and wit, or shared
otuly the final phoneme, as in tatand wat. Treirman and
Zudowesld showed that 4 and 5 year old children found
the onset-ritne werson of the samefdifferent tadk
sggnificantly easier than the wversion based on
phonermes. Only the 6 year-olds, who had been
learming to read for about a year, were able to petform
both wersions of the tasks with an equal level of
SUCCESS.
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70. The sngle-syllable words Rhyme and Fime
are constituted by the exact same set of

ritnels)

Citised 5)

Rhyrae(s)

FPhonetne s s)
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7l The Treitran and Zudowsld expesiment foukd
evidence to support the followrng:

a. atage 8, reading insthictian helps children
perfortm, hoth, the =athe Vdifferent
judgernent task

b, the development of onsefsfime awareness
precedes the developrient of an avmreness
of phonemes.

c. at agegdes children find the onset-nme
versign 40f  the same/differert  task
signi ficantly Fasier,

d. (the development of onset-nime awareness
182 neceszary and sufficient condition for
the“development of an awareness of
plionemes.

T2 Agphonologcal deficit in which of the
following is likely to be classified as dyslesa?

a. Phonemic judgement.

b, Onset judgement.

c. Fime judgement.

d. Any one or more of the above,

73, From the following statements, pmck out the
true statement according to the passage.

a. A mono-syllabic word can have only one
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otizet.

b, A mono-syllabic word can have only one
thyrne but tore than one fAme.

c. & mono-syllabic word can have only one
phoneme,

d. All of the abowe.
4. Which one ofthe following is likely to etnerge
lastin the cognitive development ofa child?

a. Bhyme
h. Rime
c. Onset
d. Phonetme.
PASSAGE VI

Democracy rests on a tension betwesn two different
principles. Thete iz, on the one tand, the principle of
equality before the law, of, mote generally, of equality,
and, o the other, what may be described as the
leadership principle. The first gives prionty to niles
atd the second to persons. Mo matter how sldll fully we
cottrive our schemes, thete iz a poirt beyond which
the one prindple cannot be promoted withowt some
sacrifice of the other.




Alexis de Tocguewille, the great mineteenth
century writer on democracy, maintained that the age
of democracy, whose birth he was withessing, would
also be the age of mediocrity: in saying this he was
thinlting prirnanly of a regitme of equality governed by
itrpersonal tules. Despite his strong attachment to
dermocracy, he took great pains to point ot what he
believed to be its negative side: a dead level plane of
achievernent in practically ewvery sphere of life The
age of dernocracy would, in his wiew, be an unheroic
age, there would not be rootn in it for either hetoes of
heto-worshippers.

But modern democracies hawe not been able to
do wiAthoat heroes: this too was foreseery with tmach
tmizgving, by Tocqueville Tocguewille viewed this
with tisgiving hecause he helieved, rightly or
wrongly, that unlilke in atistocratic societies there was
no proper place in a democracy for heroes and. hence,
when they arose they would sooner or later turn into
despots.  Whether they require heroes or not,
democracies certainly require leaders, and, in the
cotermporary age, bred them in great profusion; the
problems is to know what to do with them.

In a wodd preoccupied with scientific
rationality the adwvantages of a system based on an
impersonal rile of law should be a recormendation
with ewverybody., There iz something ordedy and
predictable about such a system When life s lived
mainly in small, self-contained commmunities, men are
ahle to tale finer personal distinctions into account in
dealing with their fellow men. They are unable to dg
thiz in a large and amorphous society, and organized
liwing would be impossible withoot a syetend of
impersonal miles. Above all, such a systend guarantess
a land of equality to the extent thatesweryhody, no
mratter in what station of life, is bound by the same
explicit, often written, rules, an@ nobody iz above
them

But, a systemn governed solelypy impersonal
tules can at best ensure order and, stability; it cannot
create any shining widomweia future in which mers
forrral equality willsbe replaced by real ecuality and
felloweship. A wotld géwemed by impersonal rules
catmot easily chiangedbzelf, or whenit does, the change
15 a0 gradual asito thake the tasic and fundamental
feature of Gociety appear unchanged. For any kind of
basic @ifundarnertal change, a push iz needed from
within, @ land of individual initiative which will create
rew files ynew terms and conditions of life.

The izsue of leadership thus acquires crucial
ggnificance in the context of change If the modetn
age is preoccupied with scientific rationality, it iz no
less precccupied with change To accept what exists on
its owm tetms is traditional, not modemn, and it tay be
all wery well to appreciate tradition in trmsic, dance
and demtra, but for society as a whole the choice has
already been made i1 fwvour of modemisation and
dewelopment. Mloreover, in some countries the g@p
between ideal and reality has, become =0 great that the
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argument for deweloprnent and  change iz now
irresistible.

In these countries no argument for
developtment has greater appeal or urgency than the
ote widch shows development to be the condition for
the mitigation, if not the elirdnation, of inequality.
There iz sotnething contradictory abodt the wery
presert of large inequaliies in a socety which
professes to be dernoctatic. It does not talee people too
long to realize that dernoctacy by itself can gatantee
otly fortmal equality, beyond this, it can dnlyshet
people’s appetite for real ot substantive eglality. Fram
thiz atises their continued preoccupation wath, plans
and schemes that wall help to bridgethe ‘Gap between
the ideal of equality and the geality winch iz so
cottrary to it When pre-existing niles give no clear
directions of change, leadefehip comies into its owm.
Every democracy invests its beaderghip with a measure
of chansmm, and expects fom®it a corresponding
measure of energygdnd vitality. MNow, the greater the
wrge for change ipg a_gocigty the stronger the appeal of
a dynamic leadership in it A dynamic leadership seelcs
to free itzelf from the constraints of essting miles; ina
sense that i2dhe tesf of its dynamism In this process it
may dake & turnrat which it ceases to regard itself as
being biund Wy these rles, placing itzelf above them.
There 1a always a tension between ‘charisma’ and
‘dlgcipling’ in the case of a democratic leadership, and
when” thiz leadership puts forward revolutionary
cladms, the tension tends to be resolved at the expense
of dizcipline. Characteristically, the legitimacy of such
a leadership rests on its claim to be able to abolish or
at least substantially reduce the existing inequalities in
society, From the aroument that fommal equality or
equality before the law iz but a limited good, it is offen
one shott step to the argument that it iz a hindrance or
an obstacle to the establishment of real or substantive
equality,. The conflict between a ‘progressive’
executive and a “conservative’ judiclary is but one
aspect of this larger problemn. This conflict naturally
acquires added piguancy when the executive is elected
and the judiciary appointed.

75 Which of the following four staternents can be
inferred fom the above passage?

&, There iz conflict between the pursuit of
equality and individuality.

B. The disadwantages of itnpersonal niles can
be overcome in small comrmmities,

C. Despite lirnitations, impersoral riles are
ezsential in large systems.

D Inspired leadership, mther than plans and
schernes, iz more effective in bridging
inequality.

a B.Dttnotd C

b, A DttnctC,B

c. A B butnotC,D

d A Chtnoth, D
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7E.

9.

80,

What possible factor would a dynarric leader

condder & hindrance” in achiewing  the

developroent goals ofa ration?

a. Principle of equality before the law

b, Judicial activism

o A conservative judiciary.

d. Meed for discipline

Which ofthe following four staternents can be

inferred from the ahowe passage?

A Scoientific ratiorality is an essential feature
of tnodermity.

B. Scientific rationality results
developtment of imperzoral riles.

C. Modemization and devel opment have been
chosen over traditional mgsic, dance and
dratna.

L. Democracies aspire to achieve substantive
equality.

a A B DtnaotC

b, A BbutnotC, D

c. A DbdtnatB, C

d ABChutnotD

A ke argument the author 15 making iz that:

a. in the context of extreme inequality, the

leadership  has

in the

izme  of litmited
significance,

b, democracy iz incapable of eradicating
inequality.

c. fonmal equality faclitates development
and change.

d. impersonal miles are good for avoiding
instability but fall short of achievigg teal
equality.

Tocqueville  beliewed that thé age af

derocracy  would  bhe an am-heroic age

hecause:

a. democratic princples’ dosfiot Bncoutage
heroes.

b, there iz no urgency forsderelopment in
dermocratic coutifines.

c.  heroes that ‘etferged in democracies would
becorme@espots.

d. aristocratic saciety had a greater ability to
priduce heroes.

Dyarri ) leaders are needed in democracies

hecauss:

&, they lave adopted the principles of
“formnal” equality rather than °substantive’
equality.

b “formnal” equality whets people’s appetite
for “substantive” equality.

c. systems that rely on the impersonal rules
of “fortral’ equality loose their ability to
triake large changes.

d. of the conflict between a “progressive’
executive and a ‘conservative’ judiciary.

DIRECTIONS for question 81 to 85 The sentence
given in each question, when properly sequenced, form
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a coherent paragaph. Each sentence is labelled with a
letter. Choose the most logical order of sentences from
arnong the given choices to consttuct a coherent

patagraph.
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Pazsivity isnot, of course, universal.

It ateas where there are no lords of lawes,
or in frontier zones where all men go
armed, the attitude of the peasantry way
well be different

oo indeed it may be on the fifige ofthe
ursubtd ssive.

. Howewer, for tmost ofythesol-bound

peasants the problemds notawhether to be
norrally passive_or ative, Jbut when to
pass from one state to another

This depends Qn an )assessment of the
political situation
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Butin the industrial era destroving the
pfieny s productive  capacity  means
bombing the factories which are located in
the cities.

=0 in the agrmrian em, if ym need to
destroy the enemy’ s productive capacity,
what you want to do iz bum his figlds, or
ifyou're really wicious, salt them

Mow in the information era, destroying the
enery s productive  capacity  means
destroving the information infrastruchre,
Howr do you do battle with your enemy?
The idea iz to destroy the enemy’s
productive capacity, and depending upon
the econormic foundation, that productive
capacity 1z different in each case,

With regard to defence, the purpose of the
militaty 18 to defend the nation and he
prepared to do battle wath its enemy.
FDEBAC

FCABED

DEBACK

DFER AL

IMichael Hoftran, a poet and trandator,
accepts this sorry fact without approval or
cotrplairt.

But thatikd essness and itrpossibility do not
daunt hitn,

He acknowledges too — in fact he rebans
to the point often that best translators of
poetty always fadl at some lesel.

Hoftran feels passonately abowt his worl,
and thiz is clear from his writings




E. In terms of the gap betweesn worth and
rewatd, translators come somewhere near
nurses and street cleaners.

a. EACDB

h. ADERC

c. EACBD

d DCEABR

G2

A Although  there are large  regional
variations, it is not infrequent to find a
large tunber of people stting  here
together and doing nothing

B. Once in office, they recetve fiends and
relatives who feel free to call any timme
without prior appointment.

C. While worldng, one iz struck by the slow
and cumsy actions and  reactions,
indifferent attitudes. Procedure rather than
outcormne  orientation, and the lack of
consideration for others.

L. Ewen thosze who are employed often come
late to the office and leave early unless
they are forced to be punctual.

E. Work iz not intnn& cally walued in India.

F. CQuite often people Wzt alling friends and
relatives or go out of their way to help
therm in their personal matters even during
office hours.

a. ECADBF

h. EADCFB

c. EADCFB

d ABFCBE

B3
A, The situations in which wiolénce dcours

and the nature of that wiolenge fends tobe
cleatly defined at least intheory, asin the
proverhial Inshrran’sCquestion:| Iz this a
private fight or can atgofie ol in?’

B. 5o the actual rigk to outéiders, though no
doubt  higher “than gour societies, is
calcilatle.

C. Probatlge, ‘the only  uncontrolled
applicationztef) force are those of socal
sufietors to social infericrs and even here
thergare probably some tules.

DOHowewer binding the ohligation to lall,

thermbers of feuding families engaged in

fantual  massacre will  be  genuinely
appalled ifby some mischance a bystander
or outsideris killed

DARC

ACDB

CBAD

DRAC

oo ow

DIRECTIONS for guestions 86 to 90: Each of the
wiords below, a contestual usage iz provided Pick the
wird from the alternatives gwven that is most
irappropriate in the given contest,

B

BE.

80

a0

Puhad TF

Disuse: Some words fall into disuse as
technology trales objects obsolete

a. Presalent

b, Dizcarded

c. Obliterated

d. Unfashionable

Facetious: When [ suggested that war iz a
tnethod of controlling population, toy father
tetnatked that [ was being facetious.

a.  Jovan
b, Jowial
c. Jocular
d. Joling

Specious A specious argdment i nobamply a
filse one but one that has the ring of trath,
a. Deceitful

h. Fallacious
c. Credible
d. Deceptiwe

Parsimonious® The evidence was constructed
fromasery parsimoni ous scraps of infonmation.

a. (Frugal

h. Penunions
.o Thitfy

d. (Altmistic

Lbfnater The new mass transit system ey
obwiate the need for the usze of personal cars:

a. Prevert

b. Forestall

c. Preclude

d. Bolster

DIRECTIONS for guestions 21 to 95: For the word
gwen at the top of each table, match the dictiomry
definitions on the left (&, B, C, DY with their
corresponding usage on the right (E, F, G, H). Out of
the four possibilities given in the bozxes below the
tatle, select the one that has all the definitions and
their usages correctly matched,

9l

Ezceed

Dic tionary Definition Usage

A, To extend outside of, or erlarge beyond,

used chiefly in strictly physical relations

Tobe greater than or supetior to

Be beyond the cotmprehension of

To go beyond a limdt set by (as an

authonty o privilege)

The rmercy of god excesds our finite

trituds,

Their accotrplishiments  exceeded  our

expectation

5. He exzceed iz authority when he paid his
brothet” s gatrbling debts with tnoney from
the trst

H. Ifthis rain keeps up, the river will exceed
its banlcs by morming

Arnswer choices:

m dow

=
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3.

a. AH BF CE DG
h. AH BE CF DG
c AG BF CE DH
d. AF BG CH DE
Itvfer
Dictionary Definition Usage
. To detive by reasoting ot implication

A

B. Tosurtnize

C. Topoint out

D We see stmolze and infer fire

E. Giwven sotne utterance, a listener may infer
from it things which the utterer newer
implied

F. Twatedall dayto meet him, form this you
can infer iy zeal to seehim

G. Tohint

H. She did not take part in the debate except
to ask a question inferring that she was not
interested in the debate

Arswer choices:

a. AG BH CE DF

h. AF BH CE DG

C. AH BG CF DE

d. AF BF CG DH

Llellow

Dictionary Definition Usage

A, Adequately and properly ages so as to be

free of harshness

Freed from the mshness of youth

Of zoft and loanty consistency

Fich and lull but free from stndency

He has mellowed with age

Thetones of the old wiolin were mello@

Sommne wines are mellow

Lellow =01l 12 found inethe Gangeiic

plains

Answer choices:

a. AE

h. AE

C. AG

d. AH

Felief

Dictionary Definition usage

A Fémiogal) or lightening of  something

di stressing

Aldaity the forrn of necessities for the

thdigent

Eivrersion

F.eleaze fom the performance of duty

& ceremnony follows the relief of a sentry

after the morning shift

It was a reliefto tale off the tight shoes.

The only relief [ get is by playing cards

. Disaster relief was offered to the victitms.

Arvswer choices:

a. AF BH CE DG

h. AF BH CG DE

C. AH BF CG DE

d. AG BE CR DF

ToEED o

T ©OF¢ DH
FE, CoEwDH
ERW CH DF

B
B
B
By WCF DE
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m5.

bRad T
Purge
Femowe a stigma fromm the natne of
IMake clean by remowing whatever is
supetfluous, foreigm

s

C. Getridof

D Tocauge evacuation of

E. The oppostion was purged after the coup

F. The cornittes heard Hs attermnpt to purge
hirnzelf of a chatge ofheresy.

. Diugs that purge the bowels are often bad
far the brain

H It iz recommended to purgesater by
distillation

Arswer choices:

a. AE BG CF "BH

h. AF BG __CH DG

C. AH BE CGWLE

d. AGF BHL, CE DG

DIRECTIONS fopquestion, 26 to 100: In each ofthe
following sentences gparts of the sentence are left
hlanl:. B eneathyeach senfence, four different ways of
completing/the sentence are indicated. Choose the best
alternative from amiong the four,

9,

BE.

oo

100.

Bt are now regulardy written to
describe well-established practices,
organizations and institntions, not all of which
seem to be Y.

a. reports, withering

b, stories, trading

c. hoolgs, dying

d. obituanes, fading

The D[Carsin who

remnarkable for the way in wiich he
the attritutes of the world dass thinker and
head of the household.

a.  cotnes, fgures

b, arises, adds

C.  etnerges, combines

d. appeared, combines

mince her face was free of there
was 10 way to if she appreciated
what had happened.

a. tnalke-up, realize

b, expression, ascettain

c.  etnotion daghose

d.  scars, understand

In this contesxt, the

laboar trovetnent ig

i tnost

of the British
patticularly

affait, weird
activity, moving
activity, moving
. atrosphere, glootny
Indian intellectuals tnay hoast, if they are so
inclined, of being to the tnost
elitist among the intell ectual of
the world.

oo




subordinate, traditions
heirs, cligues
atcestors, societies
heir, traditions

SECTION-III
DIRECTIONS for guestions 101 to 107:
Answer sach of the questions independent of sach
other.

a0 oW

101, Four fiends Ashok, Bashir, Chimg and
Despak are out shopping. Achok has less
mnoney than three times the amount that B ashir
has. Chirag has more money than Bastir
Despak tas an amount equal to the difference
of atnounts with Bashir and Chirag, Asholk has
three tirnes the money with Deepals. They each
hawe to by a least one shirt, or one shawd, or
one sweater, or one jacket, that are priced
F=200, Fs 400, Es 600 and F=1000 apiece,
tespectively. Clirag bhorrows EFEz300 fom
Asholkrand buys ajacket. B ashir butsa sweater
after borrowang Fa 100 fom Ashol: and is left
with no money. Ashak buys three shirts. What
iz the costliest itemn that Deepals could gy
with his own money?

a. A Shirt
b, A Shawd
C. A sweater
d A jacket

102, In a family gathering there are two males who
are grandfathers and four males wiio ate
fathers. In the same gathering there Areftwo
ferrales who are grandmothers| and' four
ferrales who are mothers Ther@dsatleast one
grandson or a granddavghies, present m this
gathenng There are two hushand wife pairs in
thiz group. These can eithef be 4 grandfather
and a grandmothergor a fathefFand a mother,
The zngle grandfather (whose wife is not
present) has two grandsons and a son present.
The asnglegrandmother (whose hushand is not
presenty hag twoogrand daughters and a
daughter Spresent. A grandfather or a
gatidmother present with their spouses does
not) have sany  grandson or granddaughter
present. What is the minimum munber of
people present in this gathenng?

a 10
b, 12
c. 14
d. 16

103,  Eight people carrying food baskets are going
for a picnic on motorcycles. Their names are
A B, C,DE,F, G, and H. They have four
motorcycles I, W, M and Iy among them,
They also have four food baskets O, P, Q) and
E. of differert size and shapes and which can
he carried only on motorcycles W, B, Wi or

104.

105,

108.

s

Pdoed T3
Iy respectively. Mo more than two persons
can trawel on a motoreycle and no more than
ot baslet can be camied on a motorcycle
There are two hushand-wife pairs in this group
of eight people and each pair wall nde on a
tnotorcycle together. C cannot travel wath A or
B, E cannot travel with B or F. G cannot trawel
with F, ot H, or D. The hushand-wife pairs
trmst catry baskets O and P O iz with A and P
izwithD. F trawels on I and E trawels on W,
tnotorcycles. G ois wath (), and B darmet go
wiath B Who iz trawelling with HY,

a A
h. B
c. C
d D

I hawe a total of B 4000, Itemd® costs Bs 110,
itern B costs Bz 00 Wtem Cleosts Bs. 70, iterm D
costs B2 40 and item Evedsts R 45 For every
itern D thatelSurchage, T st also buy two of
itern B For girery item &, 1 st buy one of
itern Egbor every itermn E, T must alzso by two
of itern D and one of itemn B, For every item
purchased I earn 1000 points and for every
ripee oot spent [ earn a penalty of 130 points.
LTy olifective 15 to maxmize the points [ earn.
What iz the munber of items that [ must
purchase to masimise my points?

a 13
b, 14
c. 15
d. 16

On her walk through the parle Sheetal

collected 50 colowred leaves, all either maple

or oale Bhe sorted them by category when she
got home, and found the foll owing:

s  Thenumber of red oals leaves with spots is
even and postive.

o  Thenumber of red oal: leaves without any
spot equals the number of red rmaple
leawes wathout spotz. All nonred oalk
leawes have spots, and there are five times
as many of them as there are red spotted

al leaves.

*  There are no spotted maple leaves that are
not red.

o There are exactly 6 red spotted maple
leaves.

o  There are exactly 22 maple leaves that are
neither spotted nor red.

Howr many oaks leaves did she collect?

a 12

b, 17
c. 25
d 18

& King haz unflinching lovalty from eight of
hiz rindsters IVl to Wls, it he has to select
orly four to take a cabinet committes He
decides to choose these four such that sach




selected person shares a liking with at least
otie of the other three selected, The selected
persons tmust also late at least one of the
liking of any of the other three persons
selected.
Iy lkes fishing and smoking, but hates
gatrihling,
Iy likes smoking and drinking, but hates
fisking
Iz likes gamhling, hut hates stoolking,
Iy likes tnountainesting, but hates drinking
M likes drinking, but hates smoking and
tnountainesting.
s likes fishing, Wi hates smoldng and
tnountainesting.
Iy likes gamrhling and mowtainesring, but
hates fishing, and
Ils lles smoling and gambling, but hates
mountainesring,
Who are the four people selected by the king?
a. I, I, Vs, Iuls
b Iz Iuly, Duls, Il
o Dl Duly, I, Mg
d. Iy, Iy, Iy, Il
107, In a “keep-fit” gymmasium claszs there are
fifteen fenmles enrolled in a weight-loss
program They all hawe been grouped in any
one ofthe five weight-groups W, Wh, Ws, Wy,
or W Cne instructor is assigned to one
weight-group only. Sonali, Shalind, Shubhral
and Shahira belong to the same weight- group,
sopali and Fupa are in one weight<@rdup,
Fupali and Femulea are also in one(weights
group. Fupa, Radha, Fenula, Richilea) and
Fitubelong to different weightsgrains. Somma
catmot he with Bitu, and Tata carmnet be with
Fadha Komal cannot be dath Fadha, Sotnya,
or Fim, Shatira 15 in Wh'andl Sofiva is in Wy
with Fuchika. Sweta and Telka cannot be
with Fupali, tut are\in agweight-group wath
total membershiphafSfour. Mo weight-group
can have gfinre that“five or less than one
metnber. Atuta Babita, Chandrila, Deepil,
and Flifia ate instructors of weight-groups
withy membership szes 54,32 and 1,
respectiirely . Who iz the instructor of Radha?
&, Babita
b Elina
£, Chandrila
d. Deepika
DIRECTIONS for questions 108-110: Answet the
followitg questions based on the passage below
A group of three or four has to be selected from seven
persotis. Among the seven are two wormen, Fiza and
Kavita, and five men: Fam, Shyatn, David, Peter and
Fahitn Fam would not like to be in the group if
shyarmn is also selected. Shyam and Fahim want to be
selected together in the group. Kavita would like to be

s
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i the group only if David is also there Daswad, if
selected, would not like Peter in the group. Ram would
like to be inthe group only if Peter iz also there David
insists that Fiza be selected in case he iz there in the

group.

105, Which ofthe following statemerts 15 troe?
a.  Kavita and Farm can be part of a group of
four.
b, A group of four can have two wotmen.
c. & group of four can hasre all founfnen
d. Mone of the ahowe
109, Which of the following iz a fedsible gaup of
four?
a. PRam Peter, Fiza, Fahitm
b, Shyatr, Fahim, Kawita David
c. =hyam, Rahim Fiza, Davd
d. Fiza, Dawid, Ratn, Peter
110, Which of the followingséa feasible group of

a
b, Eeter, Shyam, Fahim
c. (Kavita, Dawnd, Shyam
d. WFiza, Dawid, Fam
DIRECTIONS for questions 111-112:
&nswer ) the following questions bazed o the
rifonnation given bel ow,
Elle'1g three times older than Yogesh, Zaheer is half
the'age of Wahida Yogesh iz older than Zaheer.

111, Which of the following mformation will be
sufficient to estimate Flle’ s age?
a. Zaheeris 10 years dld.
b, Both Yogesh and Wahida are older than
Zaheer by the same number of years.
c. Both 1 and 2 ahove
d. Mone of the ahowe.
112, Which ofthe following can be infearred?
a. Yogeshis dder than Wahida,
b, Elleis dder than Wahida,
c.  Elle may be younger than Walida,
d. Mone of the above,

DIRECTIONS for guestions 113 to 116:

Aand B are two sets (eg A = mothers, B = wornen).
The elernents that could belong to both the sets (eg.,
wornen who are mothers) is given by the set C=AB.
The dlemernts which could belong to ether & or B or
hoth, 15 indicated by the st D = ACDB . A set that does
not cortain any eletnents is lnows as a ol set,
tepresented by @ (for exatmple, if none of the wotnen
it1 the 2et B iz a mothet, then C =A B iza mll sqt, or
C=@. Let "V’ signify the set of all vertebrates;, W
the set of all manarrals;, *D° dogs, *F7 sk "A7 Alszatian
and ‘P’ a dog named Pluto.

113 IFPA =@ and POA =D, then which of the
foll owing 1s true?




114,

115

114,

a. Plutoand Alsatian are dogs

b, Flutois an Alsatian

c. Plutoisnot adog

d. Drizanull set.

[fy=FOLV)iznota rall set, it implies that

a. All fish ate vetrtebrates

b, All dogs are vertebtates.

c. wotne fish are dogs.

d. Mone ofthe above.

If Z=F D30, then

a. The eletnerts of 7 consist of Pluto the dog
ot atiy other toarommal.

. Zimplies any dog or rrarmal.

c. & itmplies Pluto or any dog that iz a
tratrtral.

d. Zisanull set

Given that 2 =0 D is such that 2 =D, which

ofthe following is trus?

a. all dogs aremamals.

b, Some dogs are mamtals.

c. X=@

d.  All mammals are dogs,

Directions for question 117 to 120:
Answer the questions independert of each other,

117, Ata willage mela, the following sz navtanias
(plays) are schedule as shown in the tatle
helowr

No. Namtanki Duration Show times
1| satisavitri | 1houwr | 0" aI;l;nd 200
9 Joruka | hour 10,30 atr and

' (rilam 11,30 =t
1 | sunder and | 30 mimges | 4000, and
11004 .m.
4 Vet | oue [ | /10005 m and
' Abhirmaru 1'1.00 am.
B30 arm, 12.00
5 Resghﬁ;aaur 1 hinur noon and 2.00
11,
f Jhatisi 1g 30N nutes 11.00 am. and
: Rani L30pm

Youwish to segalhthe six nawtantis. Further you wish
to ensure fatgronget 3 lunch break from 12:30 pm to
1.30pm

Wikich of the following ways can yvou do this?

A mati-Sawvit is viewed first; Sunder Kand is
wiewed thind and Jhans Ki Fani is wiewed
last

b, Bati-Sawitt is wiewed Last, Sunder Kand
15 wiewed third and Jhansi Ei Fani is
wiewed last

C.  Gati-Bavitd is wiewed first; Sunder Kand is
wiewed third and Joru ka Carm is wiessed
fourth

d. Weer Ablimanyu iz viewed third; Feshma
aur mhera is wiewed fourth and Jhans Ki
Fani is viewed fifth

118.

119

Ehoed IE
e C
£ 910 55, 10-11: WA, 11-11.30: 3K,
11.30-12:30;  JEE, 1230-1.30: Lunch,
1.30-2; JEIG, 2-3: E5.

While Balbir had hiz back turned, a dog tan

itto his hutcher shop, snatched a piece of meat

off the counter and ran off Balbir was mad

when he realizsed what had happened. He asked

three other shopleepers, who had seen the

dog, to describe it The shoplespérs“teally

didn’t want to help Balbir S0 gach, of them

trade a statement which contsified ofe thith

and onelie,

s Shopleeper Mutrber U sad 55 The dog had
black bair and a long tail ™

s Shopleeper Muftber 2 s3td ™ The dog had
a short tail and Waerea collar™

s Shopleeper Mumb e said: “The dog had
white bairand naycollat”™

Based on thefabesre staternents, which of the

foll gtz souldbe a cotrect description?

a (The dog had white hair, short tail and no

collar,

bogThe dog had white hair, long tail and a
callar.

gy’ The dog tad black hair, long tail and a
caollar.

d. The dog had black hair, long tail and na
caollar.

The Bannerjess, the Shattnas and the

Fattabhhirtrans each have a tradition of eating

sutiday lunch as a farmily. Each family serves

a special meal at a certain time of day. Each

family has a particular set of chinaware used

orly for this meal. Use the clues below to
answer the following question

o The Shamma family eats at noon

o The farmily that serves fhied brngal uses
blue chinawatre
TheBanterjee farmily eatsat 2 o dlock
The farnily that setwes sarnbar does not use
red chitawate,

o The farnily that eats at 1 o clock serves
fiied brinal.

s The Pattabhirarnan farmiy does not use
white chinaware.

o The farily that eats last likes rnakdo-ki-
roti.

Which one of the following staternents s troe?

a. The Bannerjees eat malkda-lirotl at 2 o
clocl, the Shanmnas eat fiied brirgal at 1270
clock and the Pattabliramans eat sardhar
from red chinaware.

b, The Zharmas eat sambar served in wiite
chitiaware, the Pattabhiratmans eat fried
brirgal at 1’0 clock and the Batnetjees eat
trialda ld -toti in blue chitaware




120

c. The Sharmas eat satnbhar at noon, the
Pattabhimmanas eat fied brinjal served in
blue chiraware and the Barmerjees eat
rrakdd -l -rot served in red chinaware,

d. The Batnerjees eat rrabkdd-ld-rofl served in
white chinawate, the Shartras eat fhed
brinjal at 120 cdlock  and  the
Pattabhitatnats  eat  sammbar  from  ted
chitawate.

Lits. Ranga has three children and has

difficulty remmembering their ages and the

tnonths of their bitth The clues below tray
help her remmetrher.

A The boy, who was born in June, 15 7 years
old.

B. One of the children iz 4 years old, but is

not Anshuman

Wathhaw is older than Supriva.

One of the children was born in September

but it waznot Vaibhaw.

supnyva’ s birthday ig in Apnl.

Theyoungest child iz ondy 2 wears old.

Bc;rsec;i' on the above clugs, which one of the

Jollowing statemerts is frue?

a. Walbhav 1s the oldest, followed by
Anshirman who was hom in September,
and the youngest iz Supriva who was hom
in April.

b, Anshuman is the oldest being bom in
Jure, followed by Supriva who is 4 yeaf
old, and the youngest 15 Vathlav who 153
wears old.

c. Walbhav iz the oldest being 7 wearssold)
followed by Supriva who was bam in
April, and the youngest 15 Anstnman who
was bornin Septernber

d. Supriva is the oldest) who wag born in
April, followed by Vajbliay Who was born
in June, atd Anshurmat Sdio was bom in
meptemmber

mm o

Directions for question 121%to 1M: Answer these
questions based o thetable gwven below concerning
the busiest twelitinirternati oral atrports in the world,

\ TS

taral "
Mo, Tanne Sirpat Cole Locatm i sen-gors

wpe
T it L | AL | Sikrfa, et WA ] 7 ieeosn
3| hica-Oere | & | ORD %E TEL] 726076
3ol | 4 | Laxw | oo ﬁh 6376561
4 |Hatrowsipm| E | LEr | Ledm-Tided ooy
5 LEW A | oEw D“ME]EUEE%ELTM AIN0LLS
F. | Doz dapat | 7| BD Tarm, T b,
7| Framn & E | Fri | Fombrot (emay | #5aasls
Wmﬁ Pr:PY - ,
. s F | cos Ptk Frorce 439063
0. | SmBrecse | A | sFo | ZELECED T s
1. Jry— a | o | Pemm it s
Lom cterdm JLom cterdam

1L. e E | &z ", 7810035
L | Toeewcl | & | TGP | Mavemob-oibul | salees]

Bl o 7

SiTwil a0
13. D*ET i | ow DMU}'SE‘_*“@“ HiWH
3 TRt L | DA | Tamd Flaids, 1B5 | omban
15 |  Hemek A | Ewm | Hemem Bl | szaiog
16. | Metumrm | A | Lag [ D TREE MR agess
17 | Beemdy | | s | Peettimma | ososas
I FEinpo FE | SEL Teou], Faren = ITE
[ eorg Dok | & | TAH | Howur Towe TEA | RR0TS
20, |TamF Bovety| & | mE m“’?'ﬁuﬂ"“’?m 200E000
121, What percentage of top ten busiest &uporis is
in the TTnited States of America?
a. a0
b B0
c. 70
d. 90
122, Howmany intemational aigports not located in
the T34 of type “ANaccount for more than 30
trillion passengers?
a 4
b 5
co g
d 7
123, aHowimany international airports of type “A7
account for more than 40 million passengers
a. o
bt
c. 10
d. 14
124, Of the five busiest arports, roughly what

percertage  of passengers iz handled by

Heathrowr airport?
a. 30
b 40
c. 20
d. 50

Directions for gquestion 125 o 128: Answer the
questions based on the table given below

The following is

a table describing garments

tranufactured based upon the colour and size for each
lot. There are four sizes: MWI-Iediwm, L-Large, XL.-
Fatra Large, and XX1-Fitra-Fxtra-Large. There are
three colours: Yellow, Fed and White.

B barof Garmants

B [ 1 [Fellew m]m
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125, How many waneties of fabric, which exceed
the order, have been produced?

a 3
b, 4
C. 5
d 5

126,  How many lots are used to produce extra-
extra-large fabrics?

a 15
b, 16
c. 17
d 18

127, How many lotz are wsed to produce Extra-
Fatra-large Yellow or Extra-Fxtm-Large

White fabrics?

a 4

h. 0

c. 10

d 15

125,  How many lots are used to produce Yellow

colowed fabrics?
a. 10

b 11

c. 12

d 14

Directions for question 129 to 131: Asfswer(these
questions based on the pipeline dagrarmehel o5,

The following sketch shows the pipelines camryving
traterial fortn one location to andther, Each location
tas a demnand for material The deméand & Vaishali is
400 at Mathura iz 400, at Jhatmegd® 700 and at
WVidizsha iz 200, Each anoweindicates the direction of
traterial flow throughCthe pipeline The fow fom
WVaishali to Mathummyis SO0 %he quantity of tnaterial
fowr is such that the dersiafids at all these locations are
exactly tnet. THewapacity of each pipelinediz 1000.

2 wabnl: BEnlbuzn tinpa
At 400 T

Vikechn
2y
129, What is the free capacity awailable in the
Avanti-Vidiheza Pipeling?

a. 300
b, 200
c. 100
d 0

130, What iz the free capacity awailable fom
Avanti to Vaishali?
a. 0

Myad TE

b, 100
c. 200
d. 300
131, The quartity moved from Avarti to Vidishais
a. 200
b, 800
c. 700
d. 1000

Direc tions for questions 132 to 134: The questions
tazed on the pie charts given hel o

Chatt 1 shows the distibution of twelve nillion tonties
of ctude oil transport through differertinodesiover a
specific petiod of time Chart 2 shoss, thejdistribution
of the cost of transporting this crygde ol Thetotal cost
was ks 30 milion Diagam

Yoiome Transporfod
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132, If the cost per tonne of transport by ship, ar
and road are represented by P, ) and R
respectively, which of the following is true?

'.I' [HE

a. BR=()=F
h. P=R=0Q
c. Pe=Q=R
d R=P=0
133, The cost in rupees per tonne of ol moved by
tails and happens to be roughly
a 3
b 1.5
c. 4.5
d B

134, From the chats given, it appears that the
cheapest mode of transport 15

a. Poad

b, Rail

c. Pipeline
d. Ship

DIRECTIONS for guestions 135 1o 141: Each item
15 followed by two statetnents, & and B | Answer sach
question using the following instructions.

Choose 1 if the question can be answered by one of
the staternents alone and not by the other.

Choose 2  if the question can be answered by using
either statetnent alone,




Choose 3 if the question can be answered by using
both the statements together, but cannot be
answered by using either staternert alone.

Choose 4 ifthe question catnnot be answered even by
using both staternents together.

135, Two fhends, Fam and Gopal, hought apples

134,

137.

138,

froma wholesale dealer How maty apples did

they huy?

A Fatn hought one-hal f the munber of apples
that Gopal hought.

B. The wholesale dealer had a stock of 200
apples.

a. ifthe question can be answered by one of
the staternents alone and naot by the ather.

h. if the question can be answered by usng
either staterment alone.

c. if the question can be answered by using
both the statements together, but cannot be
answered by using either statemert alone,

d. ifthe question cannot be answered even by
using hoth statements together,

[z country 2°s GDP higher than courtry Y2

GDF

A, GDPs of the countries X and YV have
grown  over the past five wyears at
corpounded anmial rate of 3% and 6%
respectively.

B. Five years ago, GDP of country X was
higher than that of country Y.

a. i1fthe question can be answered by one of
the statements alone and not by the otheér,

b, if the question can be answered by w&ing
either statement alone.

c. if the question can be answered by 1sing
both the statements together, but catitiot be
answered by using either staternest alone.

d. ifthe question cannotBe@Enswered even by
using both statemnents togetkier,

What 1z the walue of 3/

A X oand ¥ argunegual even integers, less
than 10¢&nd XY 19an odd integer,

B. X and ¥ arevewten integers, each less than
10¢ atd product of 2 and ¥ is 12

a. aif the question can be answered by one of
thetstaternents alone and not by the other.

by, 1f the gquestion can be answered by using
either statetnent alone.

£, if the gquestion can be answered by using
both the statements together, but cannot be
answered by using either staternert alone.

d. ifthe question cannot be answered even by
using both staternents together.

On a given day a bhoat ferried 1500 passengers

actoss the nver in twelve hours. How trary

round trips did it malke?

A The hmat can cany two  hundred
passengers at any time.

139,

140.

141.

Tiaed 37

B. It takes 40 rninutes each way and 20
rinutes of waiting titne at each terrminal

a. ifthe question can be answered by one of
the staternents alone and not by the other.

b, if the gquestion can be answered by using
eithet statetnent alone.

c. if the question can be answered by using
both the statements together, but cantiot be
answeted by using either staternent alone.

d. ifthe question cannot be answered even by
using baoth staternents together.

What will bhe the time for do%mloadihg

software?

A, Transfer rate iz 6 Kilobytes pefsecond.

B. Thesze ofthe softwateis 4.5 megabytes.

a. ifthe question can beansweted by one of
the statements alone andnetby the other,

b, if the question Gan belanswered by using
either staterment alomel

c. if the g@éstion can be answered by uzsing
both the siatements together, but cannot be
angwered bydlsing either statement alone.

d. (ifthe question cannot be answered even by
using both statements together

A square 18 inscribed in a crce What is the

difference between the area of the circle and

that of the square?

&, The diameter of the crcleis 25/2 an

B. Thesade ofthe square iz 25 cm

a. ifthe question can be answered by one of
the statements aloneand not by the other.

b, if the question can be answered by using
either statement alone.

c. if the question can be answered by using
both the statements together, but cannot be
answered by using either staternent alone.

d. ifthe question cannot beanswered even by
using both staternents together,

What are the values of mand n?

A, nisan even integer, m is an odd integer,
and tmis greater than n,

B. Product of mandnis 30,

a. ifthe question can be answered by one of
the staternents alone and not by the other.

b, if the gquestion can be answered by using
either staternent alone.

c. if the gquestion can be answered by using
both the statements together, but cannot be
answered by using either staternent alone.

d. ifthe question cannot be answered even by
using baoth staternents together.

DIRECTIONS for guestions 142 to 144: Answer
these questions based on the data given below
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There ate sz comparies, 1 through 6. All of thess
comrpaties use 8% operations. & through F. The gaph

showes the disttibution of efforts put in by each
cotrpatty in these six operations.

a a 4 4 ]

142, Bupposze effort allocation iz inter-clanged
hetween opetations B and C, then C and D,
and then D and E If compaties are then
tarlzed in ascending arder of effort, which

cotnpaty would heat third rank?
a. 1
b 3
o 4
d 5

143, Suppose the companies find that they can
remove operations B, C and D and re-
distnbute the effort released equally among
the remaimng operations.  Then, which
operation will show the maxmum across all
cornparies and all operations?

a. UCperationE in company 1
b, Cperation E in Company 4
c. OperationF in company 5
d. Operation E in company 3

144, A new technology iz introduced in cormpany 4
quch that the total effwt for operatiing B
through F get evenly distnbuted among thiesg)
What is the change in the percentage off effort
in operation E?

a. Reductionof 123
b, Reductionof 3.4
c. Feduction of 5.8
d. Increaze of 5.8

DIRECTIONS for gaestiors 145 to 150: Answer
these questions basedhon the twe graphs showm below

Figure 1 shows the ameunt of worls distibution, in
tran-hours for\@Nsoftware company between offshore
and onsite astivities Figure 2 shows the estirrated and
actual worls effartyinvolved in the different offshore
activitigsin the sarne company during the same period.
(Moete: “Onsite refers to work performed at the
customiet’s pretrse and offthore refers to wotk
petformed at the developer’s pretri se)
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If 30 percent of the offshore worls to be carried
ot onsite, with the distnibution of effort
between the tasks remaining the same, which
of the following is true of all works caffied out
onsite?

a. Theatnount of coding doneds oredter than

that of testing,
b, The amount of coding doneyonsite is less

than that of design dofie onsite

c. Thearnourt of désign camisl out onsite is
greater than that of testing.

d.  Theamomnt of tesiingdrarned out offshore
15 greatesthan that oftotal design.

Foughly fwhat percettage of total work is

carried on zite?

a. &0
b, @0
o, 30
s |

The total effort in hours onsite is nearest to

which of the following?

a. moum of estimated and actal effort for
offshore design

b, The estimated roan Hours of offshore
coding

c. Theactual man-hours of off shore testing

d. Halfthe no of estimated man-hours of off
shore coding

If the total worldng hours were 100 which of

the following taslkcs will account for approz. 50

hors

a. Coding

b, Design

c. Offshore testing

d. Off shore testing

If 50 percent of the offshore works is to he

carfied ot onsite, with the distobution of

effort between the tasks remmining the same,

the percentage of testing carnied out off shore

wolld be

a 40%
b 30%
c. S0%
d. T0%

Which of the worle requires as mamy man-
hours az that spent in coding

a. Offshore, design and coding

b, Offshore coding

c. Testing
d. Offthore

testing atti coding
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